| Answer KEY |

Math 102, 222, Exam 1
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3. Using the Midpoint Rule with n = 3, the area of the region bounded by the

graph of f(z) = sin®z and the z-axis over the interval [0, 7] is approximately equal
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5. If f(z) = / T et dt, then f'(4) =
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(The graph of y = f (x) is given below)
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7. The average value of f(z) = v/ over the interval [1,4] is
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S2¢ -1 11, The area of the region bounded by the curves y = (z +1)? and y = 1 — || is equal
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15. The area of the region bounded by the graph of f(z) = 4 — %, the z-axis and the
Exangt & vertical lines = 1 and z = 2 is given by
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16. The velocity (in m/s) of a particle moving along a line is given by
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